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61070

B. Com. (Pass Course) 1st Semester w.e.f.
Academic Session 2014-15 & Current
Scheme Examination — December, 2022
' FINANCIAL ACCOUNTING-l
Time : Three hours | LR [ .Méxin}inn;Marks : 80

Before answering the qttéstions, candidates shouldensure that they
have been supplied the correct and coniplete cjilest'}io;nfpapgr. No
complaint in this regard, will be entertained after examination.
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Note : Attempt five quesﬁoné :i’r\f'all?, "s'électing one question
- from each Unit. Question No. 1 is compulsory. All
questions carry‘ equal marks. N o
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1. Answer the following questions in brief: 2% 8=16
| FrefiRed g i A e AR AR

. (a) “Why is = accounting regarded ‘as an. aid to
-',management?'-l Ene YRe 8 B O e
@i @) g ) WEr AN S §

61070-8550-(P-8)(Q-9)(22) (5} TN N PrTiO;



(b) Accounting Cycle.
SielieEd
(c) Treatment of Accrued Rent in Final ACCéuni-s
sifer @it § S R a1 Frer
(d) Need of Accountmg Convent1ons ; :
o gl bl eﬂa-waﬁar Tre T el A
(e) ‘Two Slded Errors s 2 '

» s A il ‘ ST S A pc i
3 } L o< AR SR L rETE
= z S BT S e st S e =

3. What is the differefice"betWeen“ theBook—IéeéQihg and
Accounting ~Which - parties. are ' interested  in

accounting mformatlon and what are Lhe1r needs in

? = | E . =
their context 16
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UNIT - ||

g — Il

4. On 1st January, 2010, a company purchascd a plant of
Rs. 60,000. On 1st July in the same year, it purchased
additional plant worth Rs. 18,000 and spend Rs. 2,000
on its erection. On 151‘ ]Lily’ 2012, the plant purchased

~on Ist Jan, 2010’hwing become ‘obsolete, 15 sold for
“Rs. 27,000. On Ist October, 2013 fresh plant was
pulchased for Rs 64, OOO and on the same date the

plant purchased on 1st ]uly, 2010 was sold for Rs..

Plant Account from 2010 to?2013 =

"1wﬁ 2010@@%@%600905@@@%
aﬁmaﬁaﬂgmﬁqﬁg@woooscﬂaﬁﬁ?ﬁm
g R zEs R W 2,000 Fo. T L 1 AR
zo1zﬁ 1@2010@%5@@?%%@%%

16_

® g 27,000 To # & fE T 1 S 2013 @

64ooomﬁﬁwm@ﬁarwmaﬁtaﬁmﬁ@zm
-, zo1oﬁ@ﬁm§enmloooowﬁﬁaarwu |

awmﬁawﬁgaamaqnowoqﬁraaq‘aﬂ@
Wﬂmmm%n 2010@201363}3%‘6{!76@@
feam=t
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5 "Clpim] expenditure is  different from
» at

l,ixpcmlitm'o.

e HifeTT

Explain by giving suitable ¢

UNIT

gehrg — I
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6. The following balances were extracted from the books

of M/s Nalesh Kumar as at 31st March, 2015 -

61070-8550-(P-8)(Q-9)(22) - . (4

165
Dr Balances = S RS._ s Cr Balances Rs:
Cash _5,000|Creditors 7,500
Debtors - . | 8,000 ,Ba"n'k Overdraft == | 5959
Stock 1-4-2014 "7 “T‘Qz’,,ébo Capltal "~ 25,000
Furniture ok 5000 Sales ‘ 1,01,000
Dré_winés | = 575 Prov;sl'_oxj'f(r)rr bad 900
debts -

Motor Car | 3,000|Bills Payable 1,500 ®
Purchases 72,800 Ou.f‘s’taﬁdh@ Wages 2,185
Wages - 7,500 |Returns 430
Returns 350|Unearned Rent ol
Salaries 1,600




Stationery and Printing, 465
Bad Debts 300
L.________—_——
Bills Receivable 2,000
Rent 1,800
Loan at 3% on Subhash | 5,000 )
on 1st December, 2014
Investment | < 7900]: %
Pre‘paid I_nsura;n‘ce:. i Eeia75
T AE265 |7 e | ,44,265]
Ad]ustments -
3 Deprec1at10n on furmture is to be charged @ 10% _
=D Goods of the value of Rs. 800 were destroyed byz}
Fn:e and msurance company admltted a clalm of ~
- Rs.600. - st
3" Sundry debtors. mclude an 1tcm of Rs 200 for
‘goods withdrawn for personal use and an item of
: Rs. 300 due. from customer who has’ become..
msolvent ;
4. B/R mclude a dlshonoured blll for Rs. 260
5. Prov1310n for doubtful debts is to be mamtamed at -
2 5% on Debtors |
6. Outstanding salaries Rs. 400.

© 61070-8550-(P-8)(Q-9)(22) * - . - {5z)r 1 il T R T0:



31, 2015 9 At A A gt @ bl

A9 e v

—

Dr. Balances

i £l
ki =
Ri& 1-4-2014 s
Kaki

—— o i

e
Rs, Cr, Balanccs. Rs
5,000{ A7 7,500
8,000/3% ezt 5,250
22,600 E‘ﬂ - 25,000
s,oooﬁzﬁq ' 1,01,000

= 900'
1,500

s
500
@
e fo 2,000
R 1,600
1 R 2049 | 5000
T W 3% WaT |

61070-8550-(P-8)(Q-9)(22)
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e 7900
e dM 375

L —

1. AR W e’ 10% @mEr s
2. 800 T % T H WA A F 7 @ w@ AT A
F | Bo 600 AT WHR HY R
@ 3 P ¥l § A 3wl & Ry P T A @
Ri 200 50 1 7wy oA Rerfeer @ gH WEH @
~ 300%0 I T AMHW &
1"4‘.‘"*'eﬁ/amﬁ2606@%@3@%%%[
5‘;;@7%1 ’«E"ﬁ % i%ﬂ éﬁmﬁ T 5% mr marem w@r AT
=% _’-6.}_-5;.EIEBRJT a?FT ‘60 400!

7 Wnte short notes on the followlﬁg’ e =
memw LT
() Suspense ACCOunt e
& gEiq @
: (ii) One Sided Errors

T qH fed

(iii) Two Sided Errors

& X el

(iv) Effect of Rectification of Errors on Net Proﬁt
I @9 W FRA F AN A A

61070-8550-(P-8)(Q-9)(22) (7) 2 HigausaroaRala O



UNIT - IV
g1 — IV

8. What is Receipts and Payments A/c ? Distinguish it

from Income and Expenditure A/c. 16

Weﬁtwww% ? g AT AR I En @
ECEECTY

O =Explainesai et & whor a7 ‘ 16
(a) Descnbe how th,é,:‘con&gnment account is

= mamtamed 1n the books of (a) con51gnor (b) the

cons1gnee ?

auf:fﬁﬁma)wwaa)wsvﬁﬁwﬁ
%ﬁ?ﬁzm%@ﬁ%ﬁww%?__

(b) Valuation of Closing Stock
FAHT RfF B g

61070-8550-(P-8)(Q-9)(22) (8)
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61071

B. Com. (Pass Course) 1st Semester w.e.f.
Academic Session 2014-15 and Current
Scheme Examination — December, 2022

@ . BUSINESS MATHEMATICS-l. -
Time : Three hours] - -  " S5 [Maximum Marks : 80

Before answering the questzons candzdates should ensure that they
have been supplied the correct .and complete question paper. No
complaint in this regard will be entertained after. examination.

,m#%mé##%ﬁvﬁ%aggﬁﬁﬁw#ﬁmﬁgﬁ
-,*@H@?qus'ﬁaré‘/ W#Wswwaﬁ%?s‘@?
Rraraa 78 g7 adi —»

‘Note: Attempt five ques’aons in all, selectmg one question

from each Section. Question No 1is compulsory
All' questions carry equal marks. -

Yo% @Us H 9 Wwwmgq,ﬁﬁwaqﬁ%
S GRm e e 1 wﬁaz#% R A WA
® wd
COMPULSORY QUESTION
et g ’
1. ‘(a) Solve forx:

o x:?-é'
8§27 3

61071-9350-(P-8)(Q-9)(22) - BHE-OMEHHOEER TG, -



v i fi wel
oL
o7 x
() 1 Aw i, 5, 8,12, B {1,4,0,9band C 11,2,
llwnliml(i)/\ (B A) (i) A~ (C D),
A A (4,58, 120, B (1,4, 6,9) MEC=(1,2,5,4)
B .r,nuu'. YA~ B=A) (A (C =D
() If m=a’ "'/"’, prove that

m® - 3m = a -
! »

afe mea/3 0V S Wl

I ” 1
m - 3m=a b~
a

@) 1f 8¢, =8¢, ,, find " Cs.
afe; mC, =18 Criny " Cs W ifor

(e) Evaluate:

7.0/.74
i H
20/;4
(f) If the sum of n terms of an A.P. is n? +2n,
determine the AP, ’
o fll AP & n W @ A w42 B @ AP

§IT hifora)

(g) The AM. between two numbers is 20 and the
G.M. is 16. Find the numbers.

& gemadt 4 9 AM. 20 & AR G.M. 16 B der
g ey

61071-9350-(P-8)(Q-9)(22) (2)



(h) What are characleristics of good questionnaire ?

ol MeER A A Rgyand 7

SECTION - |
g -1

2. (@) Solve:

2%+ _g and 2%+22+2 =16
‘, ‘ 2l+123J+1_8w2\+22J+2 ~16
~(b) Evaluate: Sl g

V'""’fProve tha't:

& (A N B) nC A (DAL e

ﬁl?s{ Eﬁﬁl"\’ ﬁﬁ iR \k j’j SRR,

: (AmB)mC Am(BnC)

' , (b) Each studentina class of 40 studles at least one of
= “subjects English, Maths and-Eco;16: study English,

22 Maths and 26 Eco, 5:study English and:Eco, 14

Maths and Eco and: 2 English, Math and Eco. Find

the number of students'who : ‘ '

(i) study English and Maths

(ii) English, Maths but not Eco.

61071-9350-(P-8)(Q-9)(22) (3) (ER1E-HE- TR T O



40 WE @ UH w1 N ude B IS, O )
i fAwal ® A HH q HH Uh [Oug hl SHEIIT Bl
T 16 ofh, 22 wE &R 26 oriavE, 5 SIS R
TR, 14 TR S oredemed oY 2 SAIefl, O &Y
ST Yoo B o [enRiar @ den s #ife o
G) o X R @ oTemTe HIA B

(i) SIS, T QA sreferes el

" SECTION — Il
grs — I

4. (a) How many 3 digit numbers can be formed from
the digits 1, 2, 3, 4 and 5 assuming : |
(i) Tepetition of digits is allowed
(i) repetition of digits is not allowed
b 1, 2, 3, 4@75@3@@@%@@
ST Hl 8
@) aﬁaﬁmﬁraﬁaﬁqﬁf%
(i) o F TIGRT B orgART T T

(b) How many different words can be formed of the

letters the word COMBINE so that :
(i) vowels always remain together -
(ii) no two vowels are together
(iii) vowels may occupy odd places *
COMBINE g/ & ol d Racq  Sfei-oTe =
AT S Ehdl &, STieh
(i) TR A TH WY @A T
Gi) P A WY IF AT AL T
(i) @R AU wE O 8 ' 8

- ~61071-9350-(P-8)(Q-9)(22) * (4)



5. (@) How many words cach of 3 vowels and 2

consonants can be formed from the letters of the
word INVOLUTE,
INVOLUTE o1& & ol @4 3 @t afix 2 @iorr ard
R 91 ST o e ¥ 7

(L) A polygon has 44 diagonals. Fiind the number of
its sides.

T TG W 44 Rt ¥ gaeh wonelt @ den awd
HIFTY

¢ SECTION — IIl
G-I

6. (a) If the pth term of an A.P. be g and the gth be p;
~_prove that the (p+ q)th term is zero.
R B AP Wl W o @ R g p B, R
e R p+qarqa’sﬁ%| |
" (b) The sum of the first p.q7 tcrms of AP are a, b, c
| ‘_respectlvely Prove that : ‘

~—-(q—r)+—(r—r)+ (P q) =0
H t il oyt

A.P. % Q'E»'Gﬁp, g, r N AT SR 0, b,v‘c Tl =
¢ =

a, By i AT
Z@g-r)+—(@r-p)+=(p-9)=0
p(q ,> A

7. (a). If 51, Sy, S-are the sum of n terms, 2n terms and to
: mfmlty respectively of a GP, show that:

5,(5; -8)=5(51 - %)

s 61071:93650(P-8)(Q9)(22) (D). o o v P.T.0..



- qid Sy, 5 ol | v e e T Znﬁ@rﬂi’m
& 9 ¥, @ Rand &
-5)=5(51 - Sy)
A debt of Rs. 1,200 is to be paid in one year by
making payments of Rs. 100 at the end of each
month plus interest at the rate of 1% per month on
the outslandmg balance Find the total interest

8. r(a)

paid.

5 (5] -

1,200 o P F H YW, 1%qi%1maaﬁratﬁm

q’aﬁ?‘f%mﬁmos@ﬁmvﬁww
“m%wﬁmwg&mmzﬁmn

DIStmgul Sh between Prlmary and secondary data

~ SECTION-IV
e 1:”;;-;:'“‘ @03

IV

'*?3

3=k Explam the Varlous method of collectlng pnmary

(b)

data

Mﬁ@ﬁﬁmaﬁﬁ%ﬁfﬁﬁﬁa@r

e

Convert the foHOng frequency table 1nto (1) less

= than: form (11) more than form '*i:

Marks

70-10

10 20

20-30

30-40

40-“50

No. of Students

3

il

15: :

18

ﬁaﬁfmmmﬁowwa(ﬁ)m'

o SRR e ,
Kici 0-10. | 1020 | 20-30 30-40. |. 40-50 | 50-60
BT & a'@ar 3 9 15 30 18 5

61671'-9350-(13-8)(0-9)(22)
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9. (1) Represent the following dat

————————

a by a pie diagram :

"ix}’(““dil\"‘t‘_jlllh&_ Amount Spent (in Rs.)
Food i 400
Clothing 200
House Rent 500
Fuel and Lighting 700
Mlbcellaneous | 200

Q ﬁwﬁmﬁw@aﬁwﬁmﬁamﬁaﬁam

g | @if G (mi’f )
@ HEAA00
CEt 200
4o A T amn e 0
fefaer PuRiis ity   ?20;0

(b) The followmg p1e chart provides mformahon
about a family's monthly budget
carefully and answer the quest_lons given below

it :

" Food

. N
/ 7B L) i s
%] 00012.5-‘ * Water & Eloctricy,
(..760 Clothing
s ‘Educa(lon
61071-9350-(P-8)(@-9)(22) (7))

Study it

P, T..O,



the total budget of the family jf the

(i) Find
expenditure on clothing is Rs. 1,200.
(ii) What is the monthly saving of the family ?

(iti) By what amount does the expenditure on reps
exceed the expenditure on food ?

(iv) Wﬁat percentage of the -total budget is spent on
water and electricity approximately ?
SA Rl ol WWWWTWW 2
U & I éiﬁ?m ‘

4 , me
— .—.-’7'«, .’:._13:‘:": = ,7 —— = = __
g oA =53 =i 7:; : =
Fatisaaiaaoas P\ A i
12052 g % v ==
’ 1= ’759 = "*J’E( u‘.ﬂ'ﬂs’,:, .
7 — s ST
T 125- E =5 - =
\ ‘3’0’ ” 7 Vl’a::e] & %,
2B Cothing =
i - Education

) ﬁﬁmmmwmaqﬁmwaﬁ*@
. 1200%

(n)qﬁaﬂq?rrrmqaai%m’r%?
(m)mmwmﬁmvmammam%?'

(iv) BT <[ & o9 far gfaed ol &k Red ®
T o oy & 2

61 07‘1 -9350-(P-8)(Q-9)(22) (8)
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61072

B. Com. (Pass Course) 1st Semester
w.e.f. Academic Session 2014-15 &
Current Scheme
Exam1nat10n December, 2022

L BUSINESS ECONOMICS -1

"

Tine : Three Hours ] - 7 [ Maximum Marks : 80

Before answering the questions, czmdzdates should ensure that they have
been supplied the correct and complete questzon paper No complaznt in
this regard, will be entertained after e examination.

W%Wﬁ#wﬁmwgﬁﬁww#@aﬁﬁ
@HE?WW@W?? qﬁw%avwswwer#%?s‘ﬂ?,

@W?@?gﬁ?mﬁvﬁ/

Note : Attempt five questlons in all selectlng one question

from each Unit. Question No. 1 is compulsory. All
‘questions carry equal marks.

@ ,
gdE s @ gF U g BY, BN e A9 &
S aRi e e 1 o ¥ ' uw & si%

a9 Bl

61072-8700-(P-4)(Q-9)(22) P.T. O.




1. Explain the following in brief : 2% 8=1g
PrfoRaa & data # avis ik
(a) Socialist Economy
SEIECIC R REEIS]
(b) Price Mechan‘is_m_ i
AT GIT

(©) ExpansionPath

s (d)RldgeLmes L ST

e e
~(h) Product diffierentiatio'ﬁ

' 61072-8700-(P-4)(Q-9)(22) (2)




UNIT — |
g — |

2. Explain the central problems of an economy. How can
these be valued with the help of production possibility
curves ? 16

Th e o g gueel @ aoiF difver Idred
Wﬁﬁméamﬁwwm%ém
»WW%?

3. What i is meant by prlce elastlc1fy of demand ? How is

f elast1c1ty of demand measured7 e 16
ﬁmmﬁ@awwa&%?mzﬁ@aﬁ%@w
Gﬂfﬂ%?

UNIT = u

| 4, Explam law of var1able proporhon What are the
causes of its apphcahon" e T |

%ﬁaﬁm%ﬁmaﬁmﬁmnwm%m
A% P T FRT B 7 |

5. Explam modern theory of costs. Is this theory better
@ than the traditional theory ? 16

amﬁf%'wgﬁmmﬁaﬁmmiwmm
R @ 4% & 7

61072-8700-(P-4)(Q-9)(22) - (3) 2 P.T.O.




UNIT — 1l

ghig — I

6. State and mplam the law of diminishing marginal

utility. 16
et dig SuaRa @ R @ fufee ek SEEw gvi
BNy

7. What are indifference curves ? Discuss their
properties. 16
o a6 R & ? 9@ RQwareT @ aeiH @i ®

‘ ~ UNIT-IV
TR — IV

8. Explain the difference between perfect competition,

monopoly and monopolistic competition. 16

ot s, wﬁwwwmaﬁﬁﬁmﬁww
goiq IR

9. What is a market ? Explain the features ot monopolistic
competition. 16

TR T BT B P TR SR @ Ry ffaa

61072-8700-(P-4)(Q-9)(22) (4)



ROl NO. i oniirnencsiniiofn

61073

B. Com. (Pass Course) 1st Semester
w.e.f. Academic Session 2014-15 &
Current Scheme
Examination — December, 2022

™ -~ BUSINESS MANAGEMENT - |

N

Time : Three Hours ] [ Maximum Marks : 80

Before answering the quéstz'ons, candidates should ensure that ’they have
been supplied the correct and complete question paper. No'complaint' in
this regard, will be entertained after examination.

w#%mﬁ#q@ﬁvﬁwﬁwmwﬁﬁﬁmﬁ
oq TE geT-g e 8 vﬁw%wwswwer#%?s‘eﬁ.
Rrerad 78 g4 g

Note: Attempt five questions in all, sclecting Vone question
from each Unit. Question No. 1 is compulsory All

~

questions carry equal marks.

nﬁ%méawqﬁgﬁgé,@vﬁrmﬁ%
wﬁmunﬁmlwﬁm‘%ﬁwwﬁ%m
W%ﬂ

61 073-7950-§P-4)(Q-9)(22) e X | P: TG



1. Answer Lhe following in brief : 8x2=1g

RysifeiRad @1 dferd Iae AR

(a)

(b) Define concepl of Management.
yay @ aRwIfeT i
(c) Write about Process‘ of Decision making.
Fofe it afear & =R J ffew
(d) Whatis Corporéte Planning ?
HC @ A R P ' ®
(e) Explain Nature of Organizing.
HeT 3t fastett @1 amen S
(f) Whatis Responsﬂnhty ? :
R 4 B ?
(g‘)‘ Explain Centrahzatlon and Decentrah7at10n
R A ﬁ%&ﬁmﬂT P e BT
(h) Explain 'Management by Ob]ectlves.
‘Rl T Y B e B
UNIT=1 _
T - | R

l_ixplnin Non-Lconomic Activities.

Nonfle Fearetll A e i

Write a detailed note' on classification of Business

. Activities. : o i

61073-7950-(P-4)(Q-9)(22) ( 2 )



3. What is Business ? lixpl

ain its nature and ()bjcclivcs. 16
N S )
I F & 7 gl Rdwand ol aRey aarmu)

UNIT =i
gehrg ~ I

. What are different levels of management ? Explain the

significance of management in detail. 16

%ﬁu&%ﬁmww%?wqﬁﬁmeﬁaﬁt%am
| ' |

. Write notes on : | 2x8=16
M= O] feolt fafgw @
(@) Classical and . Neo-classical Appr’oéch of
Management. : ‘

SEE S e AR Tagre faf
(b) Contingency Approach-of Management.
- U9 HSRRARM e

SR UNIT — 1l
B-co g ||
. Explain different types of planning in detail. 16
AT % U @ are i
. Write notes on : : S 4%x4=16
= o fewqolt e
(a) Decision-making
Frofgs

61073-7950-(P-4)(Q-9)(22) (3) P.T.O.



(b) Management by Objectives
Il &I A

(c) Corporate Plalming
I Bl AT

(d) Strategic Form_ulation

UNlT W
s’%ré—lv

8. What is the d1fference between centraluahon ax‘
decentralization? - e 16

'%v‘nﬁaﬂweﬁwﬁ%&ﬁwﬁww%?

i

9. What is 'line orgamzatlon 2 Explam 1ts merlts and
~ demerits. ‘ ' 16

‘%@W w%?sﬂ?}%waﬁ?aﬁﬁfmavhmn

~

61073-7950-(P-4)(Q-9)(22) ‘ (4)
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61074

B. Com. (Pass Course) 1st Semester
- w.e.f. Academic Session 2014 15 &
= ‘ Current Scheme
S : Exammatlon December 2022

BUSINESS COMMUNICATION SKILLS

; Trirﬁre"Three Hours]' ' = [ Maumum Marks 80- -

Bcfore answering the questzons candzdatrs 5hould eneun’ tlzat thev hfrve
* been supplied the correct and complete questzon paper No complamt in
this regard, will be entertained after examination.

gt & 57 3 7 7 Ol 7w g o 3 o 9w g
- 07 & FeT-97 [T &1 vﬁefra?awvswwer#af?s‘sﬁ
W#W v/ S 0o

Note Attempt fwe questlons in all selectmg one questlon

from each Unit. Question No. 1 is compulsory. All

questions carry equal marks.

% T ¥ ow owe g g g o e
Wﬁmqumlom#%anﬁ%m
g B

61074-6900:{P-)Q9(22) = - - PT.O.




1. Explain the following : 8x2=16
e o) are Bl
(a) Billing Cycle
e @
(b) Letter of Credit
Aex o shige

(e), '»Persuaswe Wﬁtten Commumcanon =
= (f) 7 Internatlonal Advertlsmg
(g) Blbhography |
T
(h) Give two différences Beh&ecn Abstract & Summary.
T AT R R Y o BRI

161074-6900-(P-4)(Q-9)(22) (2)




UNIT — |
THE — |

’ P 4 a \' “ew N N y
2k 1.5 Business Communication ? Discuss the theories
of Business Communicy tion 16

STRANEG W & P qrd ¥ 7 o & Rt A
AHAIRUI

3. Discuss the functions & objectives of Communication. 16

'W%maaﬁ?ﬁiﬁhﬁwqﬁm|
UNIT -l
. Wﬁ ~ n '
4. What 1is the role of E—maﬂ m Busmess 2 DlSCLlSS the
hnutatlons also - s Ao = 16

giﬁwﬁéﬁaa%@wmagea%Maﬁwwﬁm
| ’

5. What do you mean by Busmess Letter ? Draft a
quotahon letter. - = * 16

mﬁﬂrﬁaﬁwﬁmwwﬁ%?@ﬁ@‘qaﬂm
E U

~ UNIT - i
-
6. What is meant by Proposal ? Discuss the classification
of a proposal. ' 16

wamm%?wwwwwam.

61074-6900-(P-4)(Q-9)(22) (3) ; P.T.O.



7 What do you mean by Report ? Discuss ils types.  1g
e @ o & arqd ¥ 7 gud HHIT G

UNIT —
ghg — IV
8. What is meant by Body Lanbuabc ? Discuss its types &

1on1f1cance 16

Wwaﬁrwmﬁ%?mmwww@
HifTal

9. Discuss the effective sklll regardmgj reading & note-

making. 16

ﬁ%ﬂ@?ﬁ?ﬁﬁm%waﬁwﬁzﬁrwﬁﬁmaﬁmu
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B. Com. (Pass Course) 1st Semester
w. e. f. Academics Session 2014-15 and

Current Scheme

9 Examination — December, 2022
 BASICS OF COMPUTERS - | (THEORY)

Time : Three Hours | 7 [ Maximum Marks : 50
Before' answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint im

" this regard, will be entertained after examination.

wﬁ#mﬁ#%ﬁvﬁw%gﬁf\aﬂwéﬁmﬁw
a8 geF g Fer & w%ﬂimwwawiﬁs‘aﬁﬁmﬁvﬁ

g T
&) Note:: Attempt fwe questlons in all, selecting one queshon \
from each Unit. Question No. 1 is compulsory. AH

questions carry equal marks.
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1. Whrite short note on the f ollowing : . o
RyefRae R aftra feael fargg
i) ALU
T T g
(i) Joystick
Siafe®
(iii) RAM | =
e SR e e g
(iv) Macros - Taa s

UNIT - l
337']"5‘-— |

2. Define  Computer. vExpl’ain‘ vvit's;,; characteristics in
detail. ' : ‘ | 10

W@Qﬁmﬁaﬁ'{wﬁﬁsﬁwﬁaﬁmé
Ry | T

3. Describe classiﬁcatién of computers according to size
and storage capacity.. 10

| ' ‘ ot '

o) 105-6800-(P-4)(Q-9)(_22) (2 )



UNIT - I
g - Il

4. Detine oulpul device, Lxplain any /llH’ examples of
output device. 10

Toege Ry W gRwla s orgeye Ragd &
e SRR B HIHIRY

S. Describe the l’ollo\'ving: 10
fr=foRea @1 auie FifT .
@ (O WebCamera

IF B
(ii) Sound Cards
e e
UNIT - Il
gH1s — |l
" 6. Define memory. Explain its types in detail. 10

wiy & Rl #vw 5o sHR H R 8 T

7. Define Magnetic Disk. Explain its characteristics and
classification in detail. 10

L) WW#WWIMWW@@T
Tl & TR § Ty

UNIT - IV
TR — IV
8. Give a complete description about MS-Word. 10

MS-Word & aR & qof R 3
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9. Explain the following :

F=fofga & = Hi

(i) Toolbar
NEIES

o

(ii) Frames

)

91 105-6800-(13—4)(0-9) (22)

(4)

10



